K2A2
Hello!
This week we are talking about so called COMPOUDS (složeniny, která mají funkci jednoho slova). What is it? Let’s take a look:
It is a combination of words that has a different meaning than the two separate words. For example:
Police + man = policeman
Green + house = greenhouse (skleník)

1) Do the page 68 in your WORKBOOK (exercises 1, 2 and 3)
(udělejte pouze cvičení 1, 2 a 3)

2) Look at the text in exercise 1 and make 7 questions about the text + add answers too.
(k textu vytvořte 7 otázek + připojte odpovědi. Kdo bude mít otázky i odpovědi správně vytvořené, má šanci získat malou jedničku)

3) Let’s work with a dictionary! Try to find at least 6 compounds starting with:

	FIRE
	firefly

	BUS
	

	AIR
	

	BOOK
	bookworm





Pro zájemce:
Vzpomínáte si na příběh kluka, který se bez letenky dostal až na palubu první třídy? Této ženě se to podařilo více než třicetkrát. Nakonec byla zatčena. Důležitá slova: stowaway – černý pasažér, be arrested – být zatčen, trespass – neoprávněné vniknutí, felony – těžký zločin
https://www.cbsnews.com/news/serial-stowaway-marilyn-hartman-arrested-at-chicagos-ohare-international-airport/
